C:# Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 6546 = 2) 48+9=
- 1.
2
3
3) 64+2 = 4) 94+2 = 4.
5.
6.
7.
5 209+8 = 6) 947-5 =
8.
0.
10.
7) 22+5 = 8) 44+6=
- 11.
12.
9 812+4= 100 77-9=
11) 539+7 = 12) 60+2=
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Dividing Whole Numbers

Name:

Answer Key

Solve each problem.

1) 654+6= 109
3 64+2= 32
5 209+8= 26711
7) 22+5= 412
9 812+4= 203
11) 539+7=_ 77

2)

4)

6)

8)

10)

12)

48+9= 513
94+2= 47
947+5= 18912
4+-6= 712
77+9= 815
60-2=_ 30

Answers

1 109
2 5r3
3. 32

4. a7

5, 26rl
6. 189712
7 4r2
8 /12
9. 203
10, 8r5
11. 7
12 30
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